EARAROBEEIERT — 2 N— IBISH —F

20175 7H308 (B) 1EIfLIE2H

SOl T R3® KB [EE] B

‘ [Riz] ¥

‘ [REBE] — | & (&) 17000 B

[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= 43 | KB 1:47.2 4-4-3-4 | 38.8| 86.1 | 1 440 | £REE (i)
11111 YAXTF ¥¢55.0 (-) (-8) (H)EG') EI—-L=—2¥
L:TLA475>T7y N B:vabI I B
I IR S 4 3 | BERRRA 1:47.4 4-4-3-1 [39.0| 84.4 | 3 488 | AT (RR)
2155 A N G 56.0 (1 1/4) (+4) AR
L:Jr7—3UT7> B:Za21-T717VU— ZH &k
S 3 E“I # 1:47.4 9-9-6-2 |38.7| 84.3 | 5 462 | EHRE (BR)
3|gl10| A T>¥avA17 > () (o) | BAIE
RRXATLR BiLSL IVT5TT— L
S, o 43 | /N 1:48.6 10-10-10-9 | 39.5 | 74.4 | 9 574 | FHEEX (EH)
4l7|l7|¥¥/>>av b 755.0 @ 6 | &) *rOvbTr—L
LA TATv— B:¥xa1— () tAa-—FRL -3 BET7
35 4 3 | AUXTS :48.6 7-6-6-4 |39.9| 74.8 | 8 454 | BRERL (EH)
EHG —F13I730 56.0 (1NF) () | ) TU—2T7—L
L:xrivvH/xtx B:T77XRTIXSM b B THI77-L4
B . 4 3 | HLAE 1:48.8 6-6-6-8 |40.2 | 73.4 | 7 480 | /NEFRER (i)
6178 —)r=hOor 54.0 (1 1/4) (-4) REET
3& - R7VUa— B:a-ULFT1T7> SHBS
S 4 3 | WARE 1:49.4 2-2-2-2 | 41.2| 69.6 | 4 476 | BIEEE (ER)
] 3| N1O—-Lib 755.0 (3 1/2) () | L
R:ZAv—h 773> BAAY39U1RT =]
43 | tAE— 1:50.0 7-8-9-10 |41.2| 64.9 | 10 | 474 |FEEE ()
8|8l 9| FIT7TI—I 460 @172 (-4) K=
R:TF14—=TTVI 7 B:AVFTRAFAI— FHE%S
= ft 3 | SltE— 1:50.2 3-3-3-6 |41.8| 64.2 | 2 450 | FALLRHE (3£58)
9 4172714 L 5.0 ) -2) ) JN<SF 45Ty KR
RwYUETyEk BiFkauIANYTY BEZ &Y K
. BERENT :50. -1-1— . . EEFAN (ER)
0 ol U=t ke o3 B 1(510)4 1-1-1-6 [ 42.2| 63.2 | 6 (4_762) Sl
R:F4—TTUS>F BELT7T1— HE77—L
@ 21 L
£y 52.0-39.0
NA>24 LA |6.9-10.9-11.9-12.6-12.9-13.0-13.0-12.8-13.2
@ I—F—@EBIERL
13=3r= (¥2,3)-4(1,5)-8(9,6)-10-7
20—F— (x2,3)-4(1,5)-(8,6)9,10-7
3T—7— (¥2,3) (1,4,5) (8,10,6)9-7
Mal=5r= 5-(3,10) (1,6) (2,4)8,7,9
0 IR
B Op 1 300M 794K 1-5 350 & 1-5 1,080 &R 1-5-10 1,820M
# B 1 120/ 1-10 320M B E 1= 1,070M EE 1-5-10 6,960
5 180H4 5-10 650M B H 1-5 1,860/
10 1709
ABICOVWTRHDTERERRODLDE, THERLE,




